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Topic:- General Knowledge

1) Hampi is the ruins of which empire in South India? /

T, Tf&ror WRa & S ATTe #1 SrERiv B2
1. Pallava / Uetid

2. Rashtrakuta / XT¥HC

3. Kakatiya / PIHd

4. Vijayanagar / fas TR

Correct Answer :-

« Vijayanagar / fas TR

2) As per Census 2011, what is the average density of per square kilometer of Madhya Pradesh? /
SFRTUAT 2011 & SR, T80 WS & Ui @i fraiiex &1 oivia a9 w32

1.236

2.246

3.226

4.216

Correct Answer :-

. 236

3) Who among the following is known as the ‘Father of Modern Indian Sculpture’? /
fFafafaa @ 3 5 enyfie yrdra gfdear &1 s9e seTmarg?

1. Jamini Roy / ST T

2. Abanindranath Tagore / 3GIE AT TR

3. Ramkinkar Baij / IAfBBR S

4. Nandlal Bose / TG a1

Correct Answer :-

« Ramkinkar Baij / AfHHR S

4) Who has been appointed as the first woman Secretary General of Lok Sabha? /



APTHT BT Ugel Aigar Hera & U d fFae! frged fear mn @2
1. Snehlata Srivastava / Hgadl Sardd
2. Sindhushree Khullar / ﬁ[ﬂ%ﬁ REINVRY

3. Ratna Prabha / Xd UHT
4, Kavery Banerjee / HIA TSI

Correct Answer :-

« Snehlata Srivastava / Hgadl fardg

5) Medical Science University is located at which of the following places of Madhya Pradesh? /

Afswa g gfraRid g wex & Fufafea d 3 P M R Ra 32
1. Jabalpur / SIe[¢TYY
2. Gwalior / TdTfCRR

3. Indore / 33 N
4. Bhopal / uard

Correct Answer :-

« Jabalpur / SIFTTYY

6) How many districts are there in Madhya Pradesh as on July 2018? /
TS 2018 TF A U= | fora Rrat &2

1.42

2.45

3.51

4. 48

Correct Answer :-

7) What is the name of the cyclone which wrecked havoc in Kerala, Tamil Nadu and Lakshadweep in November
to December 2017? /

I IehaTd BT ATH 47 g Foram Taar | faiaw 2017 § Fva, afranrg ok dardiu § wegx avurn
1. Ockhi / 3t

2. Vardah / dRal

3. Nisha / =11

4. Maarutha / HIRdl

Correct Answer :-

« Ockhi / 3Nt



8) The style of decoration found in the Stupa of Sanchi in Madhya Pradesh is called .

TAge A it & wqu A ¢t 91 arelt Gomae $ A H HeTATaT 3|
1. Amaravati / MERTIC
2. Gandhara / YR

3. Mathura / HYRT

4. Bharhut / Hgd
Correct Answer :-

« Bharhut / Hgd

9) Emperor Ashoka, before becoming a king, was the Governor of which of the following districts of the present-
day Madhya Pradesh? /

ST 9 & UGS HHTE 3=01%, I4AH | 7 Yo & fHufafad foral o & frads Isaura 32
1. Shivpuri / RIagd

2. Satna / Fd-T

3. Ujjain / S

4. Ashok Nagar / 3RND TR

Correct Answer :-

. Ujjain / >4

10) Which of the following is the first Indian city to have a logo? /
frfafed # 9 S99 91 vgan sy @ e sru=r & (udie fage) 82
1. Hyderabad / %HTWI_CI

2. Mumbai / &3

3. Bengaluru /W
4. Delhi / feerit

Correct Answer :-

« Bengaluru / W

11) Which one of the following companies has bagged the broadcast rights of ‘Khelo India’ School Games 2018? /
fFrafafEa sufral & 3 fram @ sfEar oo 1T 2018 & vRO ARGR wrw fHu @2

1. Paytm / ﬁ?r(fq

2. Sahara / JeRT

3. Oppo / 3ot

4. Star Sports / .)€ @n@

Correct Answer :-

« Star Sports / ¥R ?ﬂ'{v



12) Bhagoria dance form is the cultural identity of which one of the following tribes of Madhya Pradesh? /
Ty 1 FRufefaa seenfaal # | fras Qg fas ugem yrmiar o Al 82

1. Baiga / am

2. Bhil / Hiet

3. Saharia / ﬂ?ﬁm
4. Gond /T8

Correct Answer :-

» Baiga /ST

13) Rani Lakshmibai of Jhansi battling against the British laid her life near Gwalior in the year ./
3l & faeme wre= areft FiRft B I aedfieg Atr S ad _ # sroer Sites v faa
1. 1860

2. 1857

3. 1859

4. 1858

Correct Answer :-

« 1858

14) Ujjain is situated on the banks of which one of the following rivers? /

e ¥ 3 fra T & e wsw fRE 32
1. Godavari / TGIaX!

2. Narmada / FHaT

3. Shipra / &0

4. Chambal / T&ct

Correct Answer :-

« Shipra/ famom

15) Bhimbetka rock shelters are located in which of the following districts of Madhya Pradesh? /
HAYeY & fFrafafed 7 4 fowa Rt & vivdes ey fRa 32
1. Ratlam / XdcITH

2. Chhatarpur / 8d¥4}
3. Raisen / I

4, Guna / T[T

Correct Answer :-

« Raisen / I



16) Akshardham temple situated in Delhi is dedicated to i
el AfRa seRymafR  wrgaffa gl

1. Sahivites / _d

2. Vaishnavites / q9Id

3. Swaminarayan / Tt AR

4. Shaktheya / R

Correct Answer :-

« Swaminarayan / TTHT TR0

17) Kalidas, India's immortal poet-dramatist, belonged to which one of the following places of Madhya Pradesh? /
YRT & 3R BIA-ACH DR SIS, HAVC & FHufrfad 4 A fra @ ags &

1. Sagar / 9ITR

2. Rewa / a1

3. Gwalior / TdTfeRR

4. Ujjain / S

Correct Answer :-

« Ujjain / IS

Topic:- General Hindi

1) <3UHT Io He HAT GoTar o1 3 o frei A A paare?
1. QR BT B epTamT

2. 3T HTH AT

3. 30T HTH fATeT

4. U1 BTH QT

Correct Answer :-

« 3T BTH FHBTeT

2) e’ & forg e wafgar are wres! F1 ufdd & 9w
1. ge, us, e

2. <d, gus, Fer

3. <1, gus, g

4. 59, gus, e

Correct Answer :-



3) e ¥ forg W fy frsde Y g
1. Qﬂ}r‘sf’ﬂ
2. SR
3. ﬁ@rﬁ"{[
4, AT

Correct Answer :-

- QU

4) JYART & g Tt vataar aret gl @t ufaa <t gl
1. TeRTUTd, TUTRT, STeRTS

2. GeRTUTd, U, SaTeRTS!

3. GeRTUfd, Gufier, STeRT

4. UYL, WU, SATeRTS

Correct Answer :-

5) R P forg we Wiy fode <t gl
1. R+l
2. R+3%
3. :R+€Ts{
4. :ﬁ%'a'

Correct Answer :-
o T+ %
6) WiUuga FWMAgaNeEr FRA w I Fg A s
1. 3YdYd
2. YT
3. YIRS
4. AT

Correct Answer :-

7) gear P FUFEAA DA
1. gerar
2. Ugdl



3. Ugall
4. TRl

Correct Answer :-

8) ol UgI 1 & ¥’ & Rl 0o g A A A 1 W o2
1. U
2. 3UGHIY
3. UGN
4. U

Correct Answer :-

9) 3T TR URR TS ety &1 3 e fareai A § S Ar 2
1. QIR DI ST T HAT

2. §Gl AT A BT

3. gfE AT RIS

4SS HY BT

Correct Answer :-

. G AT SIS

10) I HTA AR HIY F T HIIA AP & |
I §aT & SR I FidT §3iT GFR [T 1 |

-H A A B 9 SR 72

1. INEMT 3APR

2. gHD AABR

3. XA SADR

4, SUHT 3[ABR

Correct Answer :-
. I 3TPR
11) A% I BT R UG 7T 82
1. ARTGHY
2. g
3. fagvra
4. BTy



Correct Answer :-

. Py

12) Hp- fHTH= TR 4~ A1 Fed d@T T M ge@ A1 - B A A 19 91 SR 82
1. U AADR

2. JHS AABR

3. 3UTY 3fefPR

4. JUHT 3APR

Correct Answer :-

13) Y@ifHa ST G AHRS s Fad A s AT
1. 3T IR Sifpd

2. 39T H 3ifdhd

3. 391 ¥ sifdba

4. 341 & foQ sifpa

Correct Answer :-

. @Y 3ifpd

14) 5 &1 9 & | i a1 98! faei weg 82
1. fasg
2. TR
3. Ofdorg

4, RIS

Correct Answer :-

15) <3fYP I A TN I FE A A P ATR?
1. USRI
2. DRI
3. 3GIDRI
4. PR

Correct Answer :-

16) <3fer ST AT TG T A A DA AT?



1. 3Tl
2. Sffcied
3. STfcrferd
4. 3fcie

Correct Answer :-

17) <SiTelt &1 g & 9 314 a1 98 faeiv 2 32
1. e,

2. 3SR

3. STl

4, ST

Correct Answer :-

Topic:- General English

1) Choose the appropriate preposition for the given sentence.
I don’t mind travelling bus.

1. at
2. by
3. for

4. on

Correct Answer :-

2) Choose the appropriate preposition for the given sentence.
Their house is ____ the left side of the park.

1. at

2.in

3. over

4. on

Correct Answer :-

3) Choose the appropriate articles to complete the given sentence.

He looks as lost as __ owl. However, he is honor to this profession.



1. the, the
2.a,an
3.a,a

4. an, an

Correct Answer :-

4) Choose the most suitable determiner for the given sentence:

______Prime Minister welcomed the special guest for the Independence Day celebrations.
1. Some

2. Few

3. The

4. All

Correct Answer :-

o The

5) Choose the correct form of tense from the given options:
Umesh __ very fast when the traffic police tried to stop him.
1. was driving

2. driving

3. drives

4. is driving

Correct Answer :-

» was driving

6) Choose appropriate articles for the given sentence:

She switched off ___ television, when ___ movie she was watching, ended.
1. the, the

2. the, a

3.a,an

4. a,a

Correct Answer :-

« the, the

7) Give the noun form of the underlined word in the given sentence:

The unite meeting was held in the office.



1. united

2. union

3. unified

4. unify

Correct Answer :-

e union

8) Choose the appropriate form of the verb to complete the given sentence.
She made the child ____ all the work.
1. do

2. will do

3. have done

4. has done

Correct Answer :-

« do

9) Choose the option with the appropriate punctuation inserted in the given sentence.
Professor Rao Head of the Department of English was recently felicitated by the University
1. Professor Rao, Head of the Department of English, was recently felicitated by the University.
2. Professor Rao, Head of the Department of English: was recently felicitated by the University.
3. Professor Rao Head of the Department of English; was recently felicitated by the University.
4. professor Rao head of the Department of english was recently felicitated by the university!
Correct Answer :-

 Professor Rao, Head of the Department of English, was recently felicitated by the University.
10) Choose the option with the appropriate punctuation inserted in the given sentence.
Andrew the sales manager was sick

1. Andrew, the sales manager was sick!

2. Andrew, the sales manager, was sick.

3. Andrew the sales manager, was sick.

4. Andrew the sales manager was sick.

Correct Answer :-

« Andrew, the sales manager, was sick.

11) Choose the option that best transforms the given sentence as directed:

Sleep deprivation leads to poor health. (Question tag)



1. Sleep deprivation leads to poor health, isn’t it?

2. Sleep deprivation leads to poor health, can it?

3. Sleep deprivation leads to poor health, will it?

4. Sleep deprivation leads to poor health, doesn’t it?

Correct Answer :-

 Sleep deprivation leads to poor health, doesn’t it?

12) Choose the most suitable conjunction for the given sentence:
___the news is true, then what happened is not surprising.

LIf

2. And

3. But

4. Because

Correct Answer :-

o If

13) Choose the correct form of modal auxiliary verb for the given sentence:
I sincerely wish you get the medal.

1. will have

2. could

3. shall

4. would

Correct Answer :-

« would

14) Choose the correct form of verbs that is in agreement with the subject:
Here __ what each house team _____ to do for the competition.

1. 1s, are

2. is, has

3. are, have

4. are, has

Correct Answer :-
« 1is, has
15) Select a suitable prefix from the given options to complete the given sentence:

Though Ptolemy's theory was __correct, at the time, nobody contested it.



1. anti-

2. dis-

3. un-

4. in-

Correct Answer :-

e in-

16) Spot the error in the given sentence:
All the dresses are beautiful but this one is the more beautiful.
1. But this one

2. All the dresses

3. Is the more beautiful

4. Are beautiful

Correct Answer :-

« Is the more beautiful

17) Fill in the blanks with the present perfect tense of the verb from the given options:
The tourist his wallet recently.

1. lost

2. had lost

3. has lost

4. have lost

Correct Answer :-
¢ has lost

Topic:- General Maths

1) Sukesh earns a salary of Rs. 10000 per annum. If his salary is increased by 14%, then how much will he earn
per annum? /

ﬁuﬁmfmooomaﬁm%u%w%?%aqﬁm%ﬁq@ﬁ?ﬁ?,aaa?uﬁaﬁmmaﬁh

1. Rs. 10800 / 10800 ®UU
2. Rs. 10400 / 10400 ¥UTY
3. Rs. 11400/ 11400 >UU
4. Rs. 10700 / 10700 24U

Correct Answer :-

« Rs. 11400/ 11400 ®YU



2) Simplify:
84 — 7[-11x— 4{—17x + 3(5x — 1)}]
| B
84 — 7[-11x— 4{—17x + 3(5x — 1)}]

1. 19%

2.15%

3.27x
4.21%

Correct Answer :-

3) The simple interest on a sum of money for 2 years at 8% is Rs. 1200.What will be the compound interest on that
sum at the same rate and for the same period? /

8% 13X T 2 qUT & 1T Top YARTIRT BT ATYRYT TS 1200 TUT g | FHIE &3 UR UG GH 3afy & forg =t
<R BT Tshqfes: STt T gRM?

1. Rs. 1248 / 1248 34U
2. Rs. 2496 / 2496 ¥UUQ
3. Rs. 8748 / 8748 ¥UU

4. Rs. 3744 / 3744 34U

Correct Answer :-

« Rs. 1248/ 1248 ¥UU

4) The square root of 64 divided by the cube rootof 64is ./

64 P A DI 64 P U Gl gRT AU A W AT 1
1.2

2.1

3.32

4.16

Correct Answer :-
« 2

5) Write the following numbers in ascending order:

0.63, 0.633, 0603, 06 0.06 /

Sl ®1 eI v | fafee:



0.63, 0.633, 0.603, 06 0.06

1.0.06, 0.6, 0.603, 0.63,0.633
2.0.633, 0.603, 0.63, 0.06, 0.6
3.0.603, 0.63, 0.633, 0.6, 0.06
4.0.633, 0.63, 0.603, 0.6, 0.06

Correct Answer :-

- 0.06, 0.6, 0.603, 0.63,0.633

6) 8064 apples were packed equally in 32 boxes. How many apples were packed in a box? /
8064 T, 32 TH & UM ©U A I fHT T V| v 7R & po foraq A9 U frg w2
1.202
2.222
3.250
4,252

Correct Answer :-

o 252

7) Find the simple interest on Rs. 2500 for 2 years at 12.5% per annum. /
12.5% Ufa 9 U 2 I1a & forw 2500 FUT UR ATYRUT ATS APTRU|
1.Rs. 250/250 24U

2.Rs. 315/315%4U

3. Rs. 500 /500 ¥4V

4. Rs. 625/ 625 24U

Correct Answer :-

+ Rs. 625/625°UU

8) Find the L.C.M. of 72, 40 and 135. /
72,40 3R 135 PT AT GUITH FHp1fRmg|
1. 108

2.288

3. 1080

4.135

Correct Answer :-

« 1080

9) Which is the greatest four digit number that is exactly divisible by 15, 32, and 48? /



G 981 IR 3D Dt G DI Al § o 15, 32 37X 48 §RT T a6 A YT 82
1. 9980
2. 9896
3. 9600
4. 9988

Correct Answer :-

« 9600

10) A rectangular field is 45 metres long and 20 metres wide. Find the cost of fencing the field at the rate of Rs. 40
per metre. /

TP ATYATPR & 45 Hiex a1 3R 20 Hew AeT 81 40 TUT ufa Hiew 1 & W &F W 9181 I &) A
feiferal

1. Rs. 5200/ 5200 3UUQ
2. Rs. 2500/ 2500 ¥YUQ
3. Rs. 3600 / 3600 ¥YUQ
4. Rs. 4000 / 4000 >UUY

Correct Answer :-

« Rs. 5200/ 5200 U

11) Find the least number of square tiles required to pave the floor of a hall 20m 20cm long and 12m 40cm broad.

/

20 1t 20 A @S 3R 12 1t 40 AW NS BT &1 B o™ F T sraxge T egal @ gHaH W g
Fifore|

1. 6262

2. 1002

3. 600

4. 4200

Correct Answer :-

« 6262

12) If the arithmetic mean of 7, 6, 12, * and 9 is 10, then the value of ¥ is o
afg7,6,12, * RO BT AWR WA 107, AT T )

1. 14

2.12

3.10

4. 16

Correct Answer :-



13) Find the value of (371 +471) 1 +771 /
(371 +47 )1+ 77! & AT AT W

1.7

2. 14

3.12

4.49

Correct Answer :-

14) The numerator of a rational number is less than its denominator by 10. If the numerator is

5
increased by 12 and denominatoris decreased bv 3, then the number obtained is 5 Find the

rational number. /

weh TRET TEAT & 3 5096 X ¥ 10 &A §1 afg 3er F 12 & gfg & Fndr @
HmmﬁSﬁma?raﬁ%Fﬁwmg 21 ofE g&r A1 #1

19

1. 29

25

35

23

3, 33

21
4, 31

Correct Answer :-

15) The number 4.789 x 1073 given in standard form when converted to usual form is: /

Aleh &7 & & 715 §wAT 4.789 X 107% & o9 OHEY & & giafda far amar g,
de o g i

1. 0.04789

2. 4789000

3.0.004789

4. 0.0004789

Correct Answer :-

» 0.004789



16) Factorize:
xy(p® + q?) +pa(x* +y%) /
AUTES F:
xy(p® + q®) + pa(x® + %)

L. (px + qy)(py + gx)

2. (px +q)(qy + p)

3. (pq + xy)(px + qy)

4. (x+y)p+q)

Correct Answer :-

o (px+qy)(py +qx)

17) 7
The sum of unit fractions of — will be: /

T & e @it &7 A g

12

Correct Answer :-
1 1
o

Topic:- General Aptitude

1) There are 12 points in a plane out of which 5 are collinear. Find the number of straight lines formed by joining
them. /

T aHad # 12 fig § a9 5 W 71 3% Sew? gt Wi Hieh et @) wen e
1. 67
2.62
3.52

4.57

Correct Answer :-



2) 527+50.27+5.0027+0.527 = ?
1. 562.7997
2. 582.7997
3.572.7997
4, 552.7997

Correct Answer :-

» 582.7997

3) If JOKER is coded IMHAM, then how is SHAHRUKH coded? /

Ife JOKER B IMHAM & ¥ § HIf$d forar oitar €, @ SHAHRUKH &1 a4 HifSd fHar smemm?
1. REXFMODB

2. REYENDOZ

3. REXENODZ

4. REXDMODZ

Correct Answer :-

« RFXDMODZ

4) From a pack of 52 cards, two cards are drawn together at random. What is the probability of both the cards
being queen? /

52u?h'a1§ TS TSR &1 F, IR U A ¢ N TH 1Y fera T 34 ol & I+ 811 & Jr
WTRdT 82

A

221

4.

5) Archit purchased 130 shirts and 240 trousers @ Rs. 440 and @ Rs. 540 respectively. What should be the overall
average selling price of shirts and trousers so that 30% profit is earned (rounded off to next integer)? /

AFT 7 130 TS 3T 240 TIFTR HUM: @ 440 FUT 3R @ 540 FYT A WS | e} 3R TISOR BT ' i
o) Wea 7 g1 Infeu a1fd 30% ary Sifvfa farar o 9% (@R quife & T #9)?

1. Rs. 655/ 655 24U



2. Rs. 653 /653 %4U
3. Rs. 654 / 654 ¥UU

4. Rs. 656 / 656 2UU

Correct Answer :-

+ Rs. 656/ 656 20U

6) In a class, there are 60 students and their average weight is 52 kg. When a student leaves the class, the average
is reduced by 150gm. Find the weight of the student who left the class? /

TP H&TH 60 DT € 3R IT0T 3NHd 9o 52 fFANUH 8| 9 BIS B H&T BIS ¢d1 8, oY 3N 150 UTH 9P
PH Bl SITdT & | HET DTS aTdl BT BT aoI JTd HI?

1. 60.55 kg / 60.55 famm
2. 60.85 kg / 60.85 fopaiumd
3. 60.75 kg / 60.75 foramd
4. 60.65 kg / 60.65 @

Correct Answer :-

. 60.85 kg / 60.85 fparamd

7) A merchant has 2000 kg of sugar, part of which he sells at 8% profit and the rest at 18% profit. He gains 14%
overall. The quantity sold at 18% profit is o

TP AR & U 2000 fHarum H 8, orae ue U &) a8 8% AT 3R AW FY 18% ATH W 9°dT1 3| 98
T 14% ATH YT HIAT2 1 18% AU R AN AT 81

1. 1400 kg / 1400 famm
2. 800 kg / 800 farmd

3. 1000 kg / 1000 foramd
4. 1200 kg / 1200 foraramd

Correct Answer :-

« 1200 kg / 1200 famomg

8) A man buys an article for Rs. 750 and sells it at a profit of 8%. Find the selling price. /

TS AR 750 TUT & TP g TIIGdT 2 3R IA 8% & a1H W 39a1 2 | faswa geu fRarfomg|
1. Rs. 820/ 820 24U

2. Rs. 800/ 800 ®UU

3. Rs. 810/810%UU

4. Rs. 840/ 840 ¥UUQ

Correct Answer :-

« Rs.810/810 24U



9) A train passes a pole in 20 seconds and passes a platform 100 meter long in 30 seconds. Find the length of the
train. /

TS ¢ 20 AP S B TH Y B TR HXdl 8 3R 30 s H 100 Wex 79 WeHid I UR Rt g1 o7 B da1g
Td PIfere?

1. 400 m / 400 Hiex
2. 100 m / 100 HIcX
3.200 m / 200 HICY
4.300 m / 300 HIex

Correct Answer :-

. 200m/2001:i32

10) One quantity of wheat at Rs. 9.30 per kg is mixed with another quantity at a certain rate in the ratio 8:7
respectively. If the mixture so formed be worth Rs. 10 per kg. What is the rate per kg of the second quality of
wheat? /

9.30 ¥ yf frame arat g &1 7 o foesdt fAf3a ov wR o | & 91y %R 8: 7 3urd | fHemn
<irar 8 1 afe fAfifa fryor it saa 10 Tu@ wfa et @ 9t 9 3t god) qora 3t ufa frauma e & g2

1. Rs. 10.60 / 10.60 ST
2. Rs. 10.50/10.50 U4
3.Rs. 10.80 / 10.80 ¥TI
4. Rs. 10.70 / 10.70 S0

Correct Answer :-

« Rs. 10.80/10.80 TY

11) A box contains 4 white, 5 red and 6 yellow balls. A ball is drawn at random from the box. What is the
probability that the ball drawn is either white or red? /

TP I199 | 4 Ahg, 5 ATel 3R 6 N T 1 1S 8| 9T A A TP U FH) T T e IST ol et g1 /T
WIR®ar g {5 318 718 i a1 df Wikg § 91 A1a?

L | L | k2 ko | L

| L

4.

Correct Answer :-

L | e



Govind is 45 years old and Gopal is 65 years old. How many years ago was the ratio of their ages 3:5 respectively? /
TMfdg 45 796 BT 3R MUTE 65 9 BT 3 | fhat a6 Ugd IADBT 3TY BT U HHTT: 3:5 UT?

1. 15 years / 15 a"le

2.37 years / 37 g

3.20vyears / 20 atf

4. 5years/5 arsf

Correct Answer :-

o 15years/ 15 G

13) The sum of the ages of Uttam and Praveen is 100 years now. 5 years ago their ages were in the ratio of 2:1
respectively. What will be the respective ratio of the ages of Uttam and Praveen after 10 years? /

FAuT W IAH SR A B TG BT AT 100 99 B 1 5 T8 UG IAP 3T HHTT: 2:1 F Jurd & A1 10 T &
TG SH 3R U P 3g T Hafd SruTd 71 gI?

1.4:3
2.3:5
3.10:7

4.5:3

Correct Answer :-

14) A car does a journey in 20 hours. It travels the first half distance at 42 km/hr and the rest at 48 km/hr. Find
the distance. /

TS BR 20 Gl H IIA1 00 Bt 7 | Al arn &1 guw aneh g&f o 42 fomftder w @ fsan siran @ ok Qw &t
48 fomft/eieT W o9 fan Siran 81 g8 sasUl

1. 906 km / 906 Tt
2. 876 km / 876 fobet
3. 896 km / 896 fobHt
4. 886 km / 886 fobuil

Correct Answer :-

. 896 km / 896 foH



Study the following information carefullv to answer the question.
3DKSP27#@4JTHO9*FMR15% 7?68
What will come in place of question mark (?) in the following series based on the above

arrangement?

KPD 7@2 () *MY

vee & 3ccl &1 & foIv foeafafaa Sesrl & ageigds 98|
3DKSP27#@4JTHI*FMR15% 7?68

3TFd aE & AR W e AEar # wvad &ed () § T W R&T 7REm?
KPD 7@2 (?) *M9

1. RT@
2. TH@
3. 4T#
4. JH4

Correct Answer :-

- JH4

Topic:- General Computer

1) In the MS Word 2007, the up arrow key moves the cursor in which of the following directions? /
THEY 98 2007 H, 37 W) FI, HR o Fgfafad A I fea ez d a wrdt 82

1. Left / ST

2. Right / &T¢

3. Upwards / $UR D1 3R

4. Down / AIdl

Correct Answer :-

« Upwards / HUIR D1 3R

2) Keyboard, scanner and microphone are examples of: /

BIETS, TR 3R ATTHIG $UP IaT6X 3
1. Processing Unit / mtﬂﬁ?

2. Input Devices / g19C fargy
3. Storage Media / T Hifgan

4. Output Devices / 3T3CYc feargy

Correct Answer :-

« Input Devices / §1YC feargqg

3) To start a new paragraph in MS Word 2007, we need to press the key. /

THTY T8 2007 H TH 14T REMH & He & forg, g P DI GEHT R
1. End /TS



2. Delete / fSdite
3. Home / E);Tq

4, Enter / TR

Correct Answer :-

« Enter /TR

4) In MS Word, superscript, outline and strikethrough are said to be .
AT 98 H, GURTRPE, SATSTaTg 3R WISHY Bl CaRE 1G]

1. Text effects / TRE gm

2. Font effects / I gm

3. Word effects / IS s'm

4, Complex script / aﬁ'ﬁaﬂ%ﬁg

Correct Answer :-

. Font effects / I g'm

5) In MS Excel 2007, Excel can make somewhat of an intelligent decision on its own and determine which cells of a
row or column should be "summed". This feature is called

THTH TR 2007 B, TRIT 304 31T A TH ST 7% FiSA u=T fofa @ wewar 2 8k ag Fuffa o=
TPl ¢ % T A 3t S @ 3 a1 Siaw &) TS i ST 81 59 Bl B FHET A

1. AutoExecute / m
2. AutocCorrect / 3TCIHIaT

3. AutoSum / STCIEH

4. AutoMode / 31T

Correct Answer :-

. AutoSum / 3G

6) In MS Excel 2010, symbol should be entered before inserting a formula. /
THTI U@ 2010 H, BIAT gl pRA T UGH it gof {1 ST 9Tiee |
1. =

2.5

3. ‘Ctrl’

4. ‘Alt+=’

Correct Answer :-

7) In MS Excel 2010, cell holds /



THTY TR 2010 H, ded P gles Bl B
1. Formula only / Had qﬁ%

2. Single value only / FHad RiTa a?ﬂ[

3. Label only / Had ded

4. All of the above / SURTeT

Correct Answer :-

« All of the above / SURIad g4t

8) In MS Excel 2007, a slash or hyphen (minus sign) can be used to separate .

THTY TR 2007 H, U TARM T 8IS (BT fg) &1 ST H & e wger forar o qaan 2|
1. Day only / ad f&d

2. All of the above / JURIe g4I

3. Month only / dd Ha A

4. Year only / Had a9

Correct Answer :-

« All of the above / STRIGd gt

9) In MS Excel 2007, the feature allows you to select rows and/or columns which contain labels that you
would like to repeat at the top and/or left side of each printed page. /

THTY TR 2007 H, WHR MUH! A 3R/AT HIaH &I Jade HI1 i 3l a1 @ R daa
e gid & o 3y vl fiids 9w & <1 3iiv/aT a1 W1gs W Glev =T areil|

1. Reference Tiles / ﬁqﬁ?‘c'ls?\q

2. Print Tiles / fUie HERS
3. Print Area / i@ Qi?ql
4. View Tiles / J clged

Correct Answer :-

« Print Tiles / fli@ EHERS

10) In MS Excel 2010, each cell has its own .
THEH T 2010 H, TP A BT 3T g gl
1. local address / AHA Q\%‘;ﬂ (Rﬂ:ﬁ'q EGI)

2. port address / uré Qgﬂ

3. distinct address / f&f&ae Q?gﬂ (ﬁﬁlﬁ qdn)

4. permanent address / RAHC Q\%{ﬂ (@-I'I'?ff dn)

Correct Answer :-

. distinct address / [$de Q@ﬂ dﬁﬁm d)



11) In MS Excel 2010, the shortcut key used to select an entire column in a worksheet is: /

THTH T 2010 H, ghRie # TH R HIaH B Aade 1 & [oU STAHTA Pt oM 91ell AP i 8:
1. CTRL+SHIFT+SPACEBAR

2. CTRL+SPACEBAR

3. CTRL4+SHIFT+A

4. SHIFT+SPACEBAR

Correct Answer :-

« CTRL+SPACEBAR

12) In MS Word 2010, the shortcut key used to create a new documentis ./

THTH T8 2010 #, T 141 SAgHE 99H & g SuaiT ot S arefl Aidwpe $1_ 7
1. Alt+D

2. Alt+N

3. Ctrl+D

4, Ctrl+N

Correct Answer :-
o Ctrl+N

13) In MS Word 2010, ‘Find' command can help us to find ./

THTH T8 2010 H, BIES' $HIS I WivA H §AR) Hgg $Y Tdhdl gl
1. Texts only / FHad R

2. Equation only / BHad FHIHR

3. All of the above / STRIad Gt

4. Images only / &Had _Q'fﬁ[

Correct Answer :-

« Texts only / Had CRE

14) How many ribbon tabs are there in MS Word 2010? /
THTH TS 2010 ® fra Re2a &2

1.7

2.9

3.6

4.4

Correct Answer :-



15) What is the maximum zoom value in MS Word 2007 documents? /
THTY a3 2007 STagde | ARGaH JH dog w1 82

1. 100%

2.250%

3. 500%

4. 300%

Correct Answer :-

* 500%

16) RAM stands for: /

YA HTYUI T &:

1. Readable Access Memory / mﬁ Qﬂ”\ﬁq AR
2. Random Allotted Memory /38| Q?ﬁ%@ TRt

3. Random Access Memory / m Qa"\a? fﬂ:hﬂ

4, Real Action Memory / o TR AARY

Correct Answer :-

+ Random Access Memory / 389 T AERT

17) Which of the following is the simplest and earliest computing device? /

fFreafafEa o @ aa) va o Tad R e feaga s At @2
1. Slide Rule / WSS &

2. ABACUS / T9&dq

3. Calculator / AP AR

4. Calculating Machine / Sagafet AR

Correct Answer :-

. ABACUS /T



